

IGHOZARO ALEXANDRA O SATO

15/ENR05/0W

$$1 \quad \frac{dy}{dt} + 3y = e^{-2t} \quad t=0 \quad y=2$$
$$\underline{y'(t)} + 3(t) = e^{-2t}$$

$$3X(s) - y(0) + 3X(s) = \frac{1}{s+2}$$

$$(s+3)X(s) - y(0) = \frac{1}{s+2}$$

$$(s+3)X(s) - 2 = \frac{1}{s+2}$$

$$(s+3)X(s) = \frac{1+2}{s+2}$$

$$= \frac{1+2(s+2)}{s+2}$$

$$X(s) = \frac{1+2s+4}{(s+2)(s+3)} = \frac{A}{s+2} + \frac{B}{s+3}$$

$$A = \left. \frac{1}{s+2} \right|_{s=-2} = \frac{1+2(-2)}{-2+3} = \frac{1-4}{1} = -3$$

$$B = \left. \frac{1}{s+3} \right|_{s=-3} = \frac{1+2(-3)}{-3+2} = \frac{1-6}{-1} = 5$$

$$= \frac{-3}{s+2} + \frac{5}{s+3}$$
$$= -3e^{-2t} + 5e^{-3t}$$

ii $3 \frac{dy}{dt} - 6y = \sin 2t \quad t=0 \quad y=1$

$$3(sX(s) - y(0)) - 6X(s) = \frac{2}{s^2+2^2}$$
$$(3s-6)X(s) - 3y(0) = \frac{2}{s^2+2^2}$$

$$(3s-6)X(s) - 3 = \frac{2}{s^2+2^2}$$

$$(3s-6)X(s) = \frac{2}{s^2+4} + \frac{3}{1}$$

$$(3s-6)X(s) = \frac{2+3(s^2+4)}{s^2+4} = \frac{2+3s^2+12}{s^2+4} = \frac{3s^2+14}{s^2+4}$$

$$X(s) = \frac{6+s^2}{s^2+4} = \frac{3s^2+14}{s^2+4}$$

$$A = 3s - 6 \quad \left| \begin{array}{l} 3s^2 + 14 \\ s = \frac{1}{3} = 2 \end{array} \right. \quad \frac{3s^2 + 14}{(s^2 + 4)} = \frac{12 + 14}{4 + 4} = \frac{13}{4}$$

$$3s^2 + 14 = A(s^2 + 4) + Bs + C(3s - 6)$$

$$3s^2 = As^2 + 3Bs^2$$

$$B = 3 - A/3$$

$$B = \frac{3 - \frac{13}{4}}{3} = -\frac{1}{12}$$

$$14 = A4 + 6C$$

$$6C = \frac{13 \times 4}{4} - 14$$

$$C = \frac{13 - 14}{6}$$

$$C = -\frac{1}{6}$$

$$= \frac{13/4}{3s-6} + \frac{-1/12}{s^2+2^2} - \frac{1/6}{s^2+2^2} = \frac{13}{12} e^{2t} - \frac{1}{12} \frac{1}{s^2+2^2} - \frac{1}{6} \frac{1}{s^2+2^2}$$

$$= \frac{13}{12} e^{2t} - \frac{1}{12} \cos 2t - \frac{1}{6 \times 2} \sin 2t$$

iii $\frac{dy}{dx} - 4y = 8$, given $t=0, y=2$

$$sY(s) - y(0) - 4Y(s) = \frac{8}{s}$$

$$(s-4)Y(s) - 2 = \frac{8}{s}$$

$$(s-4)Y(s) = \frac{8}{s} + \frac{2}{1}$$

$$(s-4)Y(s) = \frac{8+2s}{s}$$

$$Y(s) = \frac{8+2s}{s(s-4)} = \frac{A}{s} + \frac{B}{s-4}$$

$$A = s \quad \left| \begin{array}{l} 8+2(s) \\ s=0 \end{array} \right. \quad \frac{8+2(0)}{0-4} = \frac{8}{-4} = -2$$

$$B = s-4 \quad \left| \begin{array}{l} 8+2(s) \\ s=4 \end{array} \right. \quad = \frac{8+2(4)}{4} = 4$$

$$iv \quad \frac{d^2 y}{dt^2} - 2 \frac{dy}{dt} + 5y = e^{2t} \quad t=0, y=2, y'=1$$

$$s^2 Y(s) - s y(0) - y'(0) + 2(s y(s) - y(0)) + 5 y(s) = \frac{1}{s-2}$$

$$s^2 Y(s) - 2s - 2s y(s) + 4 + 5 y(s) = \frac{1}{s-2}$$

$$Y(s) (s^2 - 2s + 5) - 2s - 3 = \frac{1}{s-2}$$

$$Y(s) = \frac{1}{s-2} + \frac{2s+3}{s^2-2s+5} = \frac{1}{s-2} + \frac{2s^2-7s+7}{(s-2)(s^2-2s+5)}$$

$$Y(s) = \frac{2s^2-7s+7}{(s-2)(s^2-2s+5)} = \frac{A}{s-2} + \frac{Bs+C}{s^2-2s+5}$$

$$Y(s) = \frac{2s^2-7s+7}{(s-2)(s^2-2s+5)} = \frac{A}{s-2} + \frac{Bs+C}{s^2-2s+5}$$

$$A = s-2$$

$$A = \lim_{s \rightarrow 2} \frac{2s^2-7s+7}{s^2-2s+5} = \frac{1}{5}$$

$$B \quad 2s^2-7s+7 = A(s^2-2s+5) + Bs(s-2) + C(s-2)$$

$$2s^2 - 7s + 7 = As^2 + Bs^2 - 2Bs - 2C + 5A$$

$$2s^2 - 7s + 7 = (A+B)s^2 - 2Bs - 2C + 5A$$

$$2 = \frac{1}{5} + B \Rightarrow B = \frac{9}{5}$$

$$B = \frac{9}{5}$$

$$7 = 5A - 2C$$

$$7 - 5A = -2C$$

$$7 - 1 = -2C$$

$$C = \frac{6}{2} = 3$$

$$\frac{1/5}{s-2} + \frac{9/5}{s^2-2s+5} + \frac{3}{s^2-2s+5}$$

$$= \frac{1}{5} e^{2t} + e^{\pm} (9 \cos 2t - \frac{3}{2} \sin 2t)$$

$$V. \quad \frac{d^2y}{dt^2} - 6 \frac{dy}{dt} + 8y = e^{3t}$$

$$t=0, y=0, y'=2$$

$$s^2 y(s) - s y(0) - y'(0) = e y(s) = y(0) + s y(0)$$

$$= \frac{1}{s-3}$$

$$s^2 y(s) - 2 - 6s y(s) + 8y(s) = \frac{1}{s-3}$$

~~$$\frac{d^2y}{dt^2} - 6 \frac{dy}{dt} + 8y = e^{3t} \quad t=0, y=2$$~~

$$y(s) = \frac{1}{(s^2 - 6s + 8)} - 2 = \frac{1}{s-3}$$

$$y(s) = \frac{1}{s-3} + 2 \cdot \frac{1}{s^2 - 6s + 8}$$

$$y(s) = \frac{1 + 2(s-3)}{s-3} \cdot \frac{1}{(s-4)(s-2)}$$

$$y(s) = \frac{2s-5}{(s-3)(s-4)(s-2)} = \frac{A}{s-3} + \frac{B}{s-4} + \frac{C}{s-2}$$

$$A = s-3 \Big|_{s=3} \quad \frac{6-5}{(3-4)(3-2)} = \frac{1}{-1} = -1$$

$$B = s-4 \Big|_{s=4} \quad \frac{8-5}{(4-3)(4-2)} = \frac{3}{2}$$

$$C = s-2 \Big|_{s=2} \quad \frac{4-5}{(2-3)(2-4)} = \frac{-1}{2}$$

$$= \frac{-1}{s-3} + \frac{3/2}{s-4} - \frac{1/2}{s-2}$$

$$= -e^{3t} + \frac{3}{2} e^{4t} - \frac{1}{2} e^{2t}$$